T A
BE % A — & — B LW A — 4 — W i i 7]
- % - % w24 faPER i S | 1R YUVIEEE
= = arnm B A= Kw
R E = FRE A B Wb AR B fik = Kw
e FE et gD &) Kw|
N 4 HfF £ A Kases GBI Kw
B w B Fagh g GBI - BT Kw
" o i LK 5 A K
L |RE e FRAE 4 AR—T B = Kw
e w5 T b — B, K
PN 1 B fF A o Ah—7 FF Kw
il il JEINEE Kw
| mlt: mltc F A EF Kw
p4 R E eSS E A Kw|
& & ) Kw
PN i e # A " Kw
15 mm % mm % }}z\\z
| B e FRE ie Kw|
E5 FHe Kw
N 4 B fF £ A Kw
i i Kw
i i R o 5 0%
FRE e FRE H HEWEE BRAKHBEEORIWVHEIR1IGEZEH 0Kw
& F5 AR 0.00 m®/h
N Gs At F H Era= faPER T S | 1R YUVIEEE
BE &% A — & — T BE A — & — ayu B = Kw
n/h % /b % (SRl B A= Kw
- = taties (e D) Kwl
FRE s & H fatGas GEIRAD) Kw
FE Fa alGen GBIR -BEFRAT) Kw
N 4 B A YK % T2 B Kw
e e Ap—7 BH it Kw
5 m/h m/h Tt — Fles Kw
R & B Gk e AR—T FF Kw
E F) %8 Kw
PN 4R Hff £ A Tk Kw
: o % o % KRR EF Kw
= = Kw|
| 1 B B = Kw
& & Kw
PN i ef # A Kw
fig m’/h %i m’/h %zi I}zz
W H R E (s Kw
& & Kw
YN E Hufsf i A ELEREPEERSS 70%
#l # FHEEEE KEEREORIVESRIELZEH 0Kw
m’/h | e m’/h | Se S
= = 56 TR & 0.00 m3/h
e i WiE 3 OEAEEETRAMARZOHE ., B CIERLITRMA T2
it EiEasy O AEE R 345M] (10,750keal/h) TR EE 528
PN o st R A [#15] 1Kw=860Kcal 1Kw=0. 284%& k"




RZ RS iR RIS R Y R R
B ik Rl P PER _ iy

AL HF (M2 LHE)DT RETHE

(b TH) LT AKEFEE HE

CC TN |
4 H H

ARG R TR E T35 6

AT ZHESWNE TE+
(B4 SR D)
WOEBY TENZETLIZOTHRELET,
(=77 ] ]
S (et ) (BHE )
K4
TEETH & A H
THOME
(TEHENEEREEI
HETAIL)
2 G O ks %%%%1 e
ﬁxﬁ%ﬁ%’ﬁfa%& %%%%2 ﬁg%
" RIS " RS
NI (iEaas kpa | f/t kpa
HANATHAEHE [
S N g L U]ES kpa | BIE kpa
Aeratt
For MR TR L
T ISR e epesman i o5 &0 F AT 5L
AT e i e B LB No.
(R4)

X HATHERERLOCTHEANFEOXImEZRNMN T2,




